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(1) deconstruction (6) The Raven

(2) Ben Jonson (7) Sylvia Plath

(38) Pride and Prejudice (8) bildungsroman

(4) farce (9) Thomas Pyncheon

(5) modernism (10) A Midsummer Night’s Dream
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[D] What is imagination? Discuss in English.
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[1] Define the consonants in the middle of each of the following words as indicated in the example:

Voiced or Place of Manner of
Voiceless articulation articulation
ladder Voiced alveolar plosive
happy
ruler
hammer
ringing

[2] List three words and explain why the sonority theory of syllabicity is sometimes inadequate in accounting for
the number of syllables present.
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(1) What John think Mary like? “What does John think Mary likes?”
(2) John think Mary like what? “What does John think Mary likes?”
(3) John think what Mary like? “What does John think Mary likes?”
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The acquisition of the that-trace filter was investigated by Phinney (1981). The stories that preceded the test questions
were designed in such a way that each question could be answered by interpreting the bracketed S as a complement
clause (call this the ‘complement clause response’) or a relative clause (the ‘relative clause response’). This can be

illustrated by considering @the story associated with sentence type (1), the structure that contains a complementizer

followed by a subject gap.

THE STUDY: Phinney 1981
SUBJECTS: 85 children aged 3,0 - 6;5, divided into four groups on the basis of their performance on a
pretest requiring imitation of sentences with finite and nonfinite complement clause.
Group 1: mean age = 3,7 Group 2: mean age =4;9 Group 3: mean age = 5,0 Group 4: mean age =5;2
SENTENCE TYPES: (4 tokens of each type)
(1) Subject gap with that: Who did the lion know [s that __ swam in the pond ]?
(2) Subject gap without that:
(3) Object gap with that:
(4) Object gap without that:

One interpretation of the test question treats the embedded clause as complement of the matrix verb know. Because

this clause contains both the complementizer that and a subject gap, it violates the that-trace filter.

|

(5) * Who did the lion know [s that swam in the pond ]?
T T
matrix verb complement clause

Another interpretation for the test sentence involves treating the embedded S as a relative clause that has been
separated from the element it modifies — the question word who. This wh word in turn is interpreted as the direct

object of the matrix verb know. (The gap in the relative clause here corresponds to a deleted relative pronoun.)

!

(6) Who did the lion know [ that swam in the pond ]?
T T T
NP modified by matrix verb relative clause

the relative clause

(O’grady, William. 1997. Syntactic Development. The University of Chicago Press.)
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(Continued from the previous page.)

[1] For each of (2) — (4), provide an appropriate sentence in English.
(2)
3)
4)

[2] As for (D), create an appropriate experimental story that goes with the question in (1). Also, explain what the
expected response(s) to (1) would be, both for (i) those children who have the knowledge of the that-trace
tilter, and for (ii) those children who do not have the knowledge of this filter.

[A] Create an experimental story:

[B] Explain the expected responses:
(i) For those children who have the knowledge of the that-trace filter

(ii) For those children who do not have the knowledge of the that-trace filter
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UTopNzHSE, [5E] (entailment) & [HI#E] (presupposition)DiEWE T L2 SV, O EZFT 57
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(I) Tom is a genius.
(2) John knows that Tom is a genius.
(3) Mary’s brother is a genius.
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[Il Mayes and Ono (1991) suggest that a particular set of explicit forms (anaphoric demonstrative plus noun) in
Japanese is used to indicate a certain social distance between the speaker and the referent, regardless of the
degree of accessibility of the referent in the hearer’s mind. Consider the following example.

(1) H: iwayuru furui taipu no eigyoo-moo
so-called old type of sales:person EMPH
‘Because (he) is an old world sales-*

T: ne
PRT
“Yeah’

H: tenkeitekina eigyooman da kara ano hito.
typical sales:person be because that person
‘typical sales person, that person.’

T: honto  yan nacchau ano hito
really  disgusted become that person

‘(I'm) really tired of that person.’

The use of the more explicit ano hito in the last two lines can be explained by the speaker’s stance toward the referent.
In the context of the conversation, the participants were complaining about a co-worker. (quoted from Cumming,
Susanna, Tsuyoshi Ono and Ritva Laury (2006) “Discourse, Grammar and Interaction,” Discourse studies : A
Multidisciplinary Introduction ed. By Teun A. Van Dijk. 8-36. Sage.)

Q: What does the use of ano hito indicate? Explain it in either English or Japanese.
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(a)
(d)
(8)
()

c-command (b)
default values of the parameters
motherese (h)
speech act (k)

Binding Condition A
(e) Emergentism
rhotic accents

structure dependence

(c) conventional implicature
(f) flap

(i) sloppy identity

(1) Usage-based model
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